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aﬁﬁ“ﬁ Wy / Objective Type Questions Wg? .
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. ' 50x1 =50
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; ect.
Question Nos. 1 to 100 have four options, out of which only one is corr
Answer any S0 questions. You have to mark your selected option on the
d 22

1. a—;(sec x —tan” x)

(A) 2sec? x—-2tan x (B) 2sec x — 2tan x

() 1 M

| d .2 _

2. dx[e +2ex|=

A)  2e+2x (B) 4e

/(9)/2_& - (D) 2x
. n n
3 d im X _+a | _
% dx| *X?2 x+a
' n : n
a B 2a
a - = B) 2L
© 1 - (b) O
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d ... —1
dx(sm

2x) =

2

(A) .

(B)

V1 —4x2 1—)c2

(C) 2

‘J )(D}/{—‘COS 1‘2){:
|.._.4.x '

d | (x+2)(x% —2x+4) _
x x3+8
2 .
(A) ’2x—22 (B) (x* —2x+4) + (2x - 2)
3x 3x2
(C) 1 (D) 0
axkevr -
(A 2
i ® _1_
2V x
M |
Vx (D) =1
Vx
d

(A)

_ oo

.a_;c" [(1 - COSs Qx )"“Q_COSQ

x) =

—4sinx.cos x -

(B) 1

(D) 2

25A/12/105

\

https://www.bsebstudy.com


https://www.bsebstudy.com/

B,

= [log \2 + lr.ig a’ =

0

10.

11,

- (©)

dXx

1 1
-
(A) 2 a2

1
X

£ [2tan” x]

=

A) ed

-~ l1l+x

2

2.2
B)  *a
2
D) <
' 1
B ——
B 1+ 4x2

1+ x2.
(D) 2xe?*
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12, j cos2x
. COS X +sin x

I

(A)

sin x—-cos x+ k

_})/’Ein/x-?cosx+ ke

13, -ad;{ cos(nx+sinn}=
(A) —sin(rx+sinn)
(C) —-sinnx
14. Itap (tan~! x) dx=
¢ | . '
2
(B)  TH+k
C) x+k
X _
(15. ==
—1
B otk
1 1
(C] _ X —;2—+k

(B)

(D)

(B)

(D)

(B)

D)

(B)

(D)

—sin x—-cos x+ k

—-sinx+cosx+ k

—nsin(nx)

sin x

%+k |

- logsec(tm_l x) +k

e* +k

—-e *+k
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2 .
16. J'Iog x“ dx=

1
(A) 7tk | Br 24k
x“ - x
(€) xlogx—x+k _ - (D) 2(x10gx—x)+k

17.  [(sin3x+4sin3 x) dx=

. (A) 3sinx+k - | ('(B)/—Scosx+k

2

® . cos3x 3

D) cos 3x
3 ( =

3 x+k

+12sin“ x+k +4 cos

1
18. Isin7 X COS
-1

"(I/ﬁd/ﬂ o B) 1

(C) 20 (D) 6

13.1:‘,cix=

: . »
19, I4tan X dx =

0_1+x2
: 2
B | B I
L .
© % o) X

mmz-los |
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(A) 3 (B !%

<c—1 . {DI _%
21, T -x*ﬂx _

0 2Va2? — x2

© 3z '..."."(D]_q
22, _z-?%=‘-

(A}I 2Jx 5Ja

© Jx ©) Ja

“onj2 . S
23. | NCOSX ___ dx

5 Jsin x ++Jcos x

2z
A

_;t

13

/Lor"/nm | (D) 2%
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A

I logtanx dx =

24.
0
(A) w/4 - (B) n/2
€ 0 (D) =
1
25. _[ e* dx=
0
(A) e B) 1-e
(C) e—-1 (D) O
n/2 _
26. Isinx.cos x dx
A
- 1
(A) 1 B) 3
© -1 ® 3
27.. }(x+2x+3x2+4x3) dx =
o 5
(a) 10 B2
7 © 3
© 3
(2547 12/105
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B

1

28, .
!‘13111 X .COS3 x dx -
Ay o
B) 1
(C .
_/\/0 o
1
29 IODngg dx =
0
(A) 100 | .
. B 1
/(Q)/ '( ) 100
L | |
D) 101
30 2?_4.-1?, -
I _ 1 'J;
8 -
-_)A')/. o )

) =2 :
. ” . | - 12
31. ]'__'C_l_ﬂsr___ |

xlogx ~ _

A 1 o
(A) og x +k (B) (log x)? 4 &

Mg (log x)+ k . (D) 1
log x tk

-
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B (121,
x—-3

dx=
32. .[1.2 -9
(A log(x=3)+k (B log{x +3)+k
1 | 2 '
C) - +k D) X - k |

33. I n(A)=4 AM n(B)=2, N n(AxB) =
A 6 . - (B) 8
<« 16 | (D) ¥ | I3 TE
fn(A)=4 an;l_ H(B.)=I2, then n(AxB) = |
(A) 6 . | (B) 8
C) 16 (D)  none of these
@ qﬁqﬁmiwmq&qﬁa%% (aob)=a®+b3, M a4 0(102)=

(A) 729. B) 793
(C) 783 (D) 792

If operation '0' is defined as (aob) =a®+b>, then4 0(1 02 ) =

(A) 729 (B) 793
(C) 783 (D) 792
@f 12/105 Page 11/ 40
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36.  3fe f:RS R

(C) 3x-4

If f:R-R such that flx) =

(B) | %—x-4
(S —
=3x -

Flx) 2

(A)  Z(x+4) ® lxq

(C) 3x-4 (D)  Undefineq
35A/12/105
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47, Rk ®@FF 0 @ WER wfofm R fF (aob)=a’+b’-ab, @

(lo2)03=
A) 18 (B) 27
<€ 9 (D) 12

If operation '0' is defined as (aob) =a? +b? ~-ab,then(102)03=
(A 18 B) 27
(C) 9 D)y 12

38, uml f&h A={1,2,3,...;n},ﬁmﬁ-ﬂﬁ3ﬂﬁ'ﬁw f:A> A gy
g HHd 8 ?

A) n B) |n
© sln | (O) [(n-1)

Let A={1,2,3,...,n} . How many bijective functions f:A- A can be

defined ?
(A) n B) |Ln
() %L& D) [(n-1)
[ 25A/12/105 Page 13 / 49
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“ [ 121/327
39, lan{%—( tan™! X +tan~! -1-)} =

X
oo ® V3
€ o O «
cos ™! x 4 sec™1 1_
' | b'e
(A] % . | (B) | COS-I (2x2 ~1)

© cos™ (1~2x2) D)  coslox

e (eng)

x | | .
(A]_ = | ®) l_ﬂ-

On : 3
< 14 - (D) 3n

14

42, cos™! cos%&);
8

@ B

(C)

1]
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43.
I T
(ﬂ} 6 (B] 3
2n
C) = .1
© 3 (D —=%
44. tan_l(ﬁy:—cot_l[—‘/§1=
A 0 - -
A (JBP/ 2 .
© = ® 3
45, sm(sn'l'll %J-i-tan 1(tan 3:‘) =
. 17xm B
AK) (B)
T D
© 13 ®)
46. tan'i+tan~ll=
* 2 3
A) =
s (D)
© 5

w|A
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47. sin{sin"'l -é—+cos—1 x}

(A) 1
4
€z

21 11 10
25 15 10
64 27 37

48.

(A) 1190

B) ©
. 1
(D) 5
(B) 841
D) 1
(B) 2
(D) -102
B) -15
(D) 60
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A 3 J3 V3
w49 9T
S5k o 0 0
) D (B) 12
-
) 43 (D) 3-4V3
52. 5|§ 2=
5 2
w |3 5| ® 3 20ﬁ|

R L

53. [2 ".}] [% }1]
@ [ 34] _ o a4l

o [ @ [¥3]

.

s4a. A=[L 2 3]=24"=

3

(A) [1 2 3] (B) _%_

2

 [321] o1
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G\ 1
c =2
X

(D)  logs+Ll
x

o 2] L 2
@ B3] © [13
? A—-_-.[O ?]:}Amo_
(A) 100 A B) 1014
© A (D) 994
58. [6 s] [—ﬂ=
(A) [—6 5] (B) [—g]
Mll _D) (1}
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© (1]

62. (4] [2 -2]=

rM—B]
o [-8]

(B)

(D)

(B)

[121

wh
N
—_

(0 Y
b et
(0)8 8]
—_
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9 1
9
©) x D) 1
X

65. o @ X=19

(A) 19,17, 15 };/13, 11, 9

€ 19,17,9 (D) T A = 7
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The direction ratios of the straight line

x-19_y-17 z_15

13 11 o are
@A)y 19,17,18 B) 13,11,9
€ 19,17,9 | (D) None of these
x-11_y-12 z+13

66. N F == 3= ﬁwi%rf@aﬁﬁmﬁg@m%?
r .

Aa) 11,12,13 . B) 11,12,-13

(C) , 13, 14 (D) -11,-12,13 |

~

Through which of the following pointé does the line
https://www.bsebstudy.com

x—ll_y;12_z+l3-

= = y ?‘
12 .13 14 P2
(A) 11,12,13 (B) 11,12,~13
(C) 12,13,14 D) .-11,-12,13

67. ﬁammﬁ#ﬁﬁwg,ﬁgm.é,ﬁl,x%ﬂxwm%

(A) 9 (B) 18

© 27 03
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“ | arallel lines are 2,7, 9

If the direction ratios of two p

then the valuc of x 18
A 9 | B) 18

(C) 27 (D) 3
G8. uﬁ?ﬁmi@ﬁl%ﬁﬁ AqUE a, b, cTYI x, y, z8 @ az=
(A) ey . (B) ex
(C) bz D)  ax

If the direction ratios of two parallel litiés are 'a, b, ¢ and x, y

then az = z
@) ey B o
(C) bz D) ax _

69. 'wﬁamm%@aﬁ%ﬁm az{crm 5,'2, 4T 4,8, x § ?ﬁ.xﬁﬂ
qH 3 |
-(A] 9 | (B) -9
€ 8 | (D) -8

25A/12/105 | Pace 55 7 a0
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n If the direction ratios of two mutually perpcndicul

[121/327]
ar lines are€

5, 2, 4 and 4, 8, x then the value x is

A 9 By -9
) 8 (D) -IB
-0, @@ 9x-8y+7z=10 ¥ UG U a1 FHIH 2
A)  9x-8y-7z=5 (B) 9x-8y+7z=5
(C) 9x+8y+7z=> (D) 9x-y+7z=5
Equation of a piané plal-'allel to the plane 9x-8y+72=10 is
A)- 9x-8y-7z=5 (B) 9x-8y+7z=5
(e Qx‘:+'8_y+7g=5 . (D) -9x-—§+7z=5
71 |1-]-3kl=
@ 11 " /ﬁr/fl_l
© 7 (D) V10
72. (4?+3.__)?)2 =
) 7 B) 19
) 25 (D) 49
[2RA7127105 | | | | Page 23 / 40
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73 - -S> 2> -

(71“81491:) (i—j+k)=

(A) 25 , /(B,/ﬁ,

(C) =23 (D) 22
i S Y
O P A S S S S 5
Ay S B) 4
O3 D) 2
o N
75.. u1:+;+k1(:¥?+Uk)—
- (A) .22 ABy—"23 .
(C) 24 D) =20
-2 > -
76 (_{cxj}. i =
A B 1
i _ —>
e | ©) 21
77.

- - - - - —
(i -2 j+5k).(-2i+4 j+2k)=

A). 20 (B) 18

_er o ©
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A B

(ij)'i‘(“”]

l\
A 2 /(131/1

—>

)/(Q} (D) -k

79. ﬁﬁ%i@aﬁﬁaﬂnaﬁww%?

(A x210 B) y20

_(© =7x+3y (D) wHAEA
e
Which of the following is o_bjec’tive function ? |
@ x210 B w20
[C} z;7x+3y (D)  All of these
80, =TEU x+y<35, x20,y2 0 F AWM Z=2x+y FHI TR 1:r|3%

A) 35 - (B) 105

M (D) 140

The maximum value of Z=2x+y subject to constraints
€

x+Yy<35, xz0,y2 0 is

(B) 105

(A) 35
(D) 140
© 70
[ 25A712/105 | - Page25 /40
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N [121/327
9y ' Tepd |
Qx*czﬂ?’szo, y2 0 % 3wl Z=3x-y I AL R
o .
(A) ~85'”\ 5
/(1,_3,)/7%'4 t o 1
<€) 16 {
D) 8
Themaxim -
1
) m value ‘of Z=3x-y subject to constrainté
Ty<s, X20, y> 0ig |
@A) _g
(B) 24
€ 16
D) 8§
2. Awmiy | |
% F Sy
ﬂﬁﬁ?ﬁaﬁn%
w2 |
1
ABT"':@
¢ S
(C) g D S

2

3 B) 1
(B) =

S

= D) S

6 D) 35

'ﬁhﬁﬁhggaﬁﬁa
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g giRreat 1 AT WY R

(A} P(AUB)=P(A)+P(B)

(B) P(AUB)=P(A)+P[B]+P(A['}B)
c P(AUB.)=Ph(A)+P(.B)—.P{AﬂB)
(D) P(AUB)=P(A): P(B)

Addition theorem of probability is

(A) P(A-UB.)=P{A)+P(B}

(E) P(AUB)=P(A-)+P(BI+P(AHBI
(q. P(AUB)=P(A)+P(B)-P(ANB)

(D) - P(.AUB)-=P(A]-P(B) |

84, qﬁmﬁ‘qﬂgﬁaw a:b'@,?ﬁ P{E]=

' _ a

(A) a C_I, b : | (B) a+b
b

c L D) 275

[121/327]
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88S.

If odds in favour of event Ebe a: b, then P(E)=

a
(A A B Z+D
b b
(©) a+b (D) a-b
WRFan 1 R fram 2

MHB1=P(A).P(31

(B) P(ANB)=P(A)+P(B)-P(AUB)

(C) P(ANB)=P(A).P(B/A)

(D) = | = 7

Multiplicatipn theorem of probability is

(A) P(Aﬂ§)=P(A).P(B)

(B) P(AnB)=P(A)+P(Bl—P(AUB)
(C)  P(ANB)=P(A).P(B/A)

(D)  None of these

25A/12/105
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[121
d ( 3—2x)_
86. gx\® - '
3-2
G (B) 2e3-2x
(C) _—2e3‘2-" (D) -e32x
87. [2**'dx=
w22 “
log?2 (B) 2**log2+k

[C) [x+1)2f'+k {D) 2x+1 +k

gs. [_(x+12
IxJ;+2x+J;dx_

(A) Jx+k (B) ‘%&-ﬁ-k

%2&‘*”( (D} 2x+k

1
89. Isinls xcos'? xdx=
-1 .

Ay o,

(B) 1

1 .
©) 2 (D) 2

@12/ 105
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A) €2 B) e?-2

’(CT/IEQ—-I (D) e—-1

g a

91.  fe(x)dx+[e(x)dx=

o B

(A) 2 | B) 1
p

) o D) 2[é(x)dx
a

d x x|\ _ .
o2. __d.x{\Q x\}_ https://www.bsebstudy.com

—_—

(A) x2—2x B) 2x-2

(C) 2x+2 I

N[+

47 O ®

1 oy 1
< S*
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94. ag;{log3 x xlog, 3} =

(A’_ %)' B) 9
(C) 2log 3_ | : (D) O
95. E%c-( lﬂ\g_x-moj -
/LA’) J,cllmzn -. | ‘ (B) %

100

| ) ,
O D) 160%

96. —‘L[sin'l(éxJ1—x2 1]:
dx
- . —1e 1
A 2sin X (B) .
(A) | 2
(©) 2 | (D) 1
| 1-x* Vi-4x?(1-x?)
| [ 25A/12/105 " Page 317 40
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2
Ay e2MEx Ly B) S-+k
2
) 2_ak D) 3x° +k
Wi
:_ % f (_ =
(A 44 B) 4
(C 01 D) -4
1 1?!. )p (:) N
=] i Jmn+n
e g
m+n
(C) sl + b (D) (m+n)xM™* 14k
P+l
O (e” e dx =
//-/
oy oy
(A) € Tk ) 3
- PR
(Cl e;*.‘ﬁ-’ }‘ (IJ] 3 1‘}\
P:
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